BOBRICK , collection
"THROUGH FIX" 9806-21

Technical Data INSTALLATION KIT FOR TOILET PARTITIONS

For Installation of Grab Bar Through Toilet Partition Panel.
One Through Fix Kit Required for One Grab Bar.

Grub Screw

Flange

|
|
|

| \/
m ’ Through Fix

Plastic Washer Plastic Shoulder Washer
Stainless Steel Plastic Plastic
Through Fixing Through Fixing M8 Washer
Washer
— =40 -~ l=20 Raims Suggggo V30
_ . et/Grub Screw
T for 26 to 35 mm panels for %m ol
for 10 to 1/mm panels
155 215.5 -
M8 2719.
N —L4L - igt [l _L 1
@00 || | 250.0 30.0
b e Forl gs0 50.0 400 L
o119 212.0 :
6.8 — [~ 4.8 = = 48 — —~ T vexdo
Set/Grub Screw
for 17 to 26mm panels
MATERIAL :
a. 2 pcs. of machined stainless Steel "Through Fixing" satin finish (satin finish shoulder washer with metric M8 thread
inside)

b. 2 pairs of "Through-Fix" PU-shoulder-washers

i. needed primarily for partitions with sensitive surfaces or metal- or glass-partitions to protect the surface from any
scratches and prevent potential glass-breakage

2 pcs. of grub screws M8x30mm for partitions of 1/2" panel thickness

2 pcs. of grub screws M8x40mm for partitions between 1/2" and 1" panel thickness

e. 2 pcs. of grub screws M8x50mm for partitions between 1" and 1-1/2" panel thickness

e o

continued . . .

The illustrations and descriptions herein are applicable to production as of the date of this Technical Data Sheet. Issued 07/14/21 Printed in U.S.A.
The manufacturer reserves the right to, and does from time to time, make changes and improvements in designs and dimensions. © 2021 by Bobrick Washroom Equipment, Inc.



INSTALLATION:

Drill a pair of holes between 16mm (41/64") and 19mm (3/4") through the panels for the grub screws going through the
partition-panel. Use centre of flange base as template to mark drilling points.

NOTE : For Glass-Partitions, please inform the partition-manufacturer for respected hole size accordingly. Put the
PU-shoulder-washers into the holes with the shoulder facing into the hole "1 pcs. from each side of the holes. Mount flange
bases against Through Fixes.

SPECIFICATION:

Grab bar Through Fix shall have type 303, 4mm (1/8") thick satin finish stainless steel Through Fix shoulder washer, two PU
shoulder washers to protect the partition panel and a grub screw prepared for 4mm (1/8") Allen wrench

Grab Bar Through Fix shall be Anchor No. (insert anchor number) of Bobrick Washroom Equipment,
Inc., Clifton Park, New York; Jackson, Tennessee; Los Angeles, California; Bobrick Washroom Equipment Compa-
ny, Scarborough, Ontario; Bobrick Washroom Equipment Pty. Ltd., Australia; and Bobrick Washroom Equipment
Limited, United Kingdom.

The illustrations and descriptions herein are applicable to production as of the date of this Technical Data Sheet. 9806-21 07/14/21 Printed in U.S.A.
The manufacturer reserves the right to, and does from time to time, make changes and improvements in designs and dimensions. © 2021 by Bobrick Washroom Equipment, Inc.



